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path inependance of conservative forces

The work done by a conservative force on a
particle moving between two points does

not depend on the path taken by the particle. —{ AU ¢ = _\Nc %

/ The net work done by a conservative force
o5 /2 on a particle moving moving around every
s closed is zero.
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/ AE[h =+f kd = +,UFN d }‘

‘ AK +AU +AE, =W ‘

W =is the work done on the system by forces

external to the system

W =0 for an isolated system

-

Power as the rate at which energy is transferred

from one form to another
_AE dE

a At inst _E

dw
The rate at which the work is done =—
dt

is a special case of energy being transferred

to (or from) kinetic energy (one form of energy).




